

Διαίρεση κλασμάτων

Ακέραιος με κλάσμα

$$4 : \frac{3}{6} = \times \text{---} \div \text{---} \div \text{---}$$

$$5 : \frac{1}{8} = \times \text{---} \div \text{---}$$

$$3 : \frac{4}{5} = \times \text{---} \div \text{---}$$

Κλάσμα με κλάσμα

$$\frac{3}{6} : \frac{4}{8} = \text{---} \times \text{---} \div \text{---} \div \text{---}$$

$$\frac{5}{6} : \frac{1}{3} = \text{---} \times \text{---} \div \text{---} \div \text{---}$$

$$\frac{6}{8} : \frac{3}{5} = \text{---} \times \text{---} \div \text{---} \div \text{---}$$

Μεικτός με κλάσμα

$$3\frac{2}{4} : \frac{2}{3} = \text{---} \times \text{---} \div \text{---} \div \text{---}$$

$$4\frac{3}{6} : \frac{1}{5} = \text{---} \times \text{---} \div \text{---} \div \text{---}$$

$$3\frac{2}{8} : 2\frac{3}{5} = \text{---} : \text{---} \div \text{---} \times \text{---} \div \text{---}$$